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BIOLOGY

The deficiency of which of these

1.  In the below diagram, identify the part 4.
which ~ connects  the  peripheral elements interrupts photolysis of water
microtubules to the central sheath. \ :
during photosynthesis ?
(A) Mnand C/
(B) Znand Cu
(C) CaandK
Interdoublet
bridge (D) NandP
~ S 5. InC, plants, C, cycle takes place in
Radial microtuble
spoke (A) Mesophyll cells
(A) Plasma membrane (B) Bulliform cells
(B) Interdoublet bndgF (@) Compantoncells
(C) Central microtubule -, AR e
t
(D) Radial spoke N et
2.  The element whose percentage weight 6. Durmg Cit.ric Acid cycle, the va;i.ous
is highest in both earth’s crust and organic acid undergo decarboxylation.
human body is : Which of the following organic acids
(A) Hydrogen of the above cycle have 4C, 5C and 6C
(B) Carbon respectively ? |
(C) Oxygen (A) Oxaloacetic acid, Citric acid and
(D) Calcium Succinic acid
(B) Succinic abid, a-Ketoglutaric
3. Identify the event in rr.leiosis mediated acidand ciitic siil:
by the enzyme recombinase.
(A) Synaptic pairing (©) vaic acic?, Malic acid and
B) Termiialization a-Ketoglutaric acid.
(C) Crossing Over (D) Pyruvic acid, oa-Ketogluetaric
(D) Interkinesis acid and Cirtic acid
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7. Consider the following statements 9. Match the different types of
regarding = photosynthesis and Leucocytes (Column-I) with their
respiration in plants and select the percentage of occurrence (Column-II)
correct option. in a healthy adult human and choose
I. RuBisCO has high affinity to the correct answer.

oxygen in low CO, concentration. Column-I Column-II
II. The Calvin pathway occurs in the (1) Neutrophils (p) 6-8%
chloroplast of bundle sheath cells of (2) Lymphocytes (q) 60 —65%
£ Pl () Monocytes (1) 0.5-1%
III. Yeast poison themselves when the (4) Basophils (s) 2-3%
concentration of alcohol reaches 7%. . ] .
IV. Oxygen is.a final hydrogen acceptor (3)7 < Eosiiojiils (f) Sl
during aerobic respiration. Choose the correct option :
(A) Statements II & IV are correct, (A) (D)-(),2)-(r),3)-(s), (4 - (1),
I is wrong. (5)-(p) ‘
(B) Statements I & II are correct, IV (B) (1)-(), (2)-(s), (3)- (1), (4 -(q),
is wrong. 5)- )
(C) _Statements I & III are correct, 11 (O (1) - (CI), (2) - (1), 3) - (1), (4) - (3),
is wrong. () - (p)
@0 Semesl& N YA B O (D-@.@-0,6)-0)@)-0),
" (5)-(s)

8. Match the digestive glands given in : :
Column-1  with their respective 10. In which part of the human brain
enzymes given in Column-II and corpora quadrigemina is located ?
choose the correct combination from (A) Forebrain
the given options. (B) Hindbrain

Column-I Column-II (C) Midbrain
(1) Pancreas (p) Pepsin -
(2) Gastric glands (q) Enterokinase (D) Cerebral hemisphere
(3) Small (r) Ptyalin
intestine 11. A girl after attaining sexual maturity
(4) Salivary (s) Trypsin shows development of growing ovarian
glands follicles, development of mammary
Choose the correct option : glands and high pitch of voice. These
(A) (D-@),2)-(@),3)-(@), - (s) changes are attributed to
B) (1)-(s),2)-(p)3)-(q,(4)-(r) hormones.
©) (D-),2)-(@,3)-(p) @D -(s) (A) Melatonin  (B) Estrogens
@) 1)-@.2)-)6)-0.4)-@) (C) Progesterone (D) Androgens
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15. Identify the mismatch.

12. In apple, the chromosome number of
- gametes is 17. What is the (A) Antipodals — Haploid
chromosome number in its Primary (B) Zygote — Diploid
Endosperm Nucleus (PEN) ? 8 f))f_nergidsE— (Ifiploid b
rimary Endosperm Nucleus —
) 17 (D) 51
16. Identify the correct order of events in
pollen-pistil  interaction from the
13. Identify the vegetative propagule ‘M’ options given below :
in the following diagram : I.  Release of male gametes into the
embryo sac.
II.  Deposition of pollen grains on
stigma.
III. Entry of pollen tube into embryo
sac.
IV. Development of pollen tube
V. Entry of pollen tube into  the
Ovule.
(A) IVolll-olI>I-oV
(B) I->IVoVoIl-1
(A) Bulbil (B) Offset A B IV T >V > 1
(C) Rhizome (D) Runmner (D) VoIV Il->Il-1
17. Match the months listed in Column-I
14. During an excavation of soil, Pollen Withithe organogenesis of foetus in
: ; ; Column-II.
fossils were retrieved from deepest C
; : olumn-I Column-I1
layer‘ of soxl.' The ‘pollen grains (i) Firstmonth (a) Separation of
remained as fossils because eye lids
(A) The intine of pollen grains is- (ii) Second (b) Hairs on head
made up of pectin. month
: A : (iii) Fifthmonth (c) Heart
(B) Exine has spiny Ornamentation. (iv) Six month (d) Limbs & digits
(C) The exine of pollen grains is (1) (@1) (i) (v)
highly resistant to enzyme action. Eg) (;) (d) (a) (b)
; ) (b) (¢) (d) (a)
(D) Pollen ‘grams are asexual © @ ® © (@
reproductive structures. @) (@ @ ® (@
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18. When the fallopian tube is blocked at 20. Which of the following contraceptives
ampullary region, the ovum fails to could be effective in avoiding
inové fhofmn pregnancy if used within 72 hours after

: casual unprotected intercourse ?

(A) Isthmus to infundibulum (A) Androgen - FSH

(B) Ovary to ampulla combination

(C) Isthmus to Uterus (B) Testosterone — Relaxin

: combination

(D) Infundibulum to Isthmus (C) Relaxin - Oxytocin

combination

19. Identify the cells represented as p, q, r RED T eonen f:;:?)%::tion
and s in the schematic representation of :
Oogenesis, shown below and choose Ty . &
th S athe - oose the correct statement regarding

peast o svaa the GIFT (Gamete Intrafallopian Tube

Transfer) procedure.

(A) Ova collected from a female
donor are transferred to the
fallopian tube to facilitate zygote
formation in the recipient.

- (B) Zygote is collected from female
donor and transferred to the
fallopian tube of recipient.

(A) p = Ovum’ q = Oogonia’ s (C) Z}'gote iS CO]]eCted ﬁ'om a female
Primary oocyte, s - Secondary donor and transferred to the
Oheevia : : uterus of recipient.

(D) Ova are collected from a female

(B) p - Secondary Oocyte, q - donor and are transferred to the
Primary Oocyte, r - Ovum, s - uterus of recipient.

‘Oogonia

(C) p-Ovum, q - Secondary Oocyte, 22. Which of the following characters was

r - Primary Oocyte, s - Ovum not studied by Mendel in his Pea plant
: ’_ experiments ? ;

(D) p - Oogonia, q - Primary Oocyte, (A) Stem height (B) Pod shape

FESERIINY LI, § - i (C) Seedshape (D) Leaf shape
Space For Rough Work
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(A) rRNA (B) dsRNA
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23.

24.

25.

In an Organism, mutation in a single
gene exhibits multiple phenotypic
expressions. Idéntify the underlying
genetic mechanism in the above
instance.

(A) Pleiotropy

(B) Incomplete dominance

(C) Polygenic inheritance
(D) Multiple allelism

A pure breeding pea plant with round
yellow seeds was crossed with pea
plant having wrinkled green seeds. On
selfing of F, hybrid of his cross, 64
obtained in F,

generation. Find out the number of F,

progenies  were

progenies  showing  non-parental
characters.

(A) 36 (B) 4

(C). 12 (D) 24

A man with blood group A marries a
woman having blood group B. The
maximum possible blood groups among
their progenies are

(A) AB only
(C) A,B

(B) A, B, AB
(D) A, B, AB, O

26.

27.

28.

29.

(D) some

The length of DNA helix in a typical
nucleosome is

(A) 200 bp (B) 1000 bp
(C) 32x10°bp (D) 6.6 x 10°bp

‘Which of the following types of RNA

carries amino acids towards ribosome
during translation ?

(A) rRNA
(C) tRNA

(B) dsRNA
(D) mRNA

In eukaryotes, the entire base sequence
of a gene'do not appear in mature RNA
because

(A) transcription in  eukaryotes
consumes more energy.

(B) coding sequences are removed
during processing.

(C) introns are removed during

processing.

_gene  sequences  are
removed by exonuclease.

Suppose DNA samples collected for
DNA fingerprinting analysis are less
than the required quantity. Which of
the following techniques is helpful to-
make the samples sufficient for above
analysis ? ]

(A) Electrophoresis
(B) Chromatography .
(C) PCR

(D) DNA probing
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(€) o sciecmnor’ (A) erygerdngs (B) SoURR

(D) & Fouee (C) GABA (D) Bom*
33. wom XX IRTTY,, oy ©I o3 =

SITINGH) T NWIEHL $8,03 37, TRRBOHOT ReIII TG, derdY

DUTNGY. & TDRIE odnYcde HOOTOS =1

AR A G SOy BRoRTOY,. R T p——

83 LURBETRBODYTOT 9,838 LoD "

asrEReh O - (B) mmsdoa@qgmm

(A) %DIReOT  (B) OFH, OIS (€) Redod wgo

(C)l Répfﬁdta (D) ez (D) &8 x3moons deednsh
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30. When Escherichia coli cells are 34. Injection of an antidote
cultured in a medium where Lactose is snakebite is an example of
absent, the ‘i’ gene of Lac Operon : !
continues to produce repressor mRNA, (A) Innate immunity
because it is (B) Active immunity
(A) anon-coding gene. e :
(B) an operator gene. (C) Passive immunity
(C) a constitutive gene. (D) Auto immunity
(D) a structural gene.
31. For the given sequence of DNA, 35. Certain tumours are called malignant,
identify the complementary sequence because
of bases on its mRNA from the options (A) They are confined to specific
given below : locations.
DNA 3'- ATGCATGCATGC -5' 3
(A) 5 - UACGUACGUACG - 3' (B) They llnvac?e and damage
(B) 8 TACGTACGTACG -3 surroundmg tissues.
(C) 3'-UACGUACGUACG-5' (C) They show contact inhibition.
A s b ot (D) They are not neoplastic.
32. Which among the following was the
biggest land dinosaur ? 36. The transport of which
(A) Stegosaurus neurotransmitter is interfered by
(B) Tyrannosaurus rex cocaine ?
(C) Brachiosaurus (A) Acetylcholine (B) Serotonin
(D) Triceratops
(C) GABA (D) Dopamine
33. In a population of plants, some were
extremely tall and the remaining were : .
extremely dwarf. No plants of the 37. In -the lhfe cycle of plasmodmm,
population showed intermediate height. fertilisation takes place in
The type of operation of natural A Sali lands of it
selection in the above case is VL) Seiva e CL e
(A) Balancing : (B) RBCs of humans
(B) Directional (C) Stomach of mosquito
(C) Stabilizing :
(D) Discoptive (D) Liver cells
Space For Rough Work
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38.

39.

40.

41.

0o BB d:aem{ T, 88negE Frododz
Brassica & 9.

(A) TP IWTO*

(B) X Bpdrat

©) PRy,

(D) = dneshe

©OMeB FACDY, B YNSRI TX
BOTOTIR), ged3 %, BOL0TN WYTLD
WG, ?

(A) =TgFr=e Bomeos

(B) wdYan

(C) & _sSgan

(D) dredm¥zn ;

JANFETN  WIDOT, - BROOWS
soend =% demn ey YN
TREAUT TOFTEITTL) QOO TR
(A) 838 ToenzzF

(B) ®0od Xo¥oe

(C) =0 ool 39 XoNGF

(D) evZoSzrme 39 ZoSTFs

WO SorrTmcn 338 6Y Segw
Foornds a3, Aoeosd Iod). 3
Foorn  Meeodd  XF 00T W00
NoBICHQ, FHoorw  TLI  mANRY
BRWTOTOT IO, ZPITJY MR

(A) 838 8o

(B) SgFrme somos EY

(C) Rgeod Toonxr

(D) =ZFEnepeds’

42.

43.

STTRYST Feo, CReRy werdrRWeR

Sovhd QeOT RoFUMONY, QJeoDd
ﬁom;mma‘% @3503 a:b&e_émc&:dom
Tonesmennsd, Dfowd

(A) amd dpvd Qedded P
mmnv:% Siohen RTood

SRR,

(B) = ReSOmMONDE  UmmTe
weasom% grvd SN eniJ)
FRSORRYTIT.

(C) =z ¥F ©Run wHEsSt
R0 IRBIE.

(D) =@z vl 03 TTODT
SOTTRY, éz:;d:bgd.

WD BT P WD T
SO0 IRIJVJTD et IRTEED mz;dmg, ?
A RFCTT,

(A)" SNIIT g VR, Dopodeeda’

ness.
(B)
©)

A0, CRex 10T Hoderor zﬁsﬂ.
CT0E  T,[RETIY,  Feo, Rt
BNFTT.

(D) SI[I sFTVEg, Saqsadraezs‘a:
neoPne)..
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38. White rust resistant variety of Brassica 42. In sewage treatment, secondary
is
treatment i considered  highl
(A) Pusa Sadabahar s - : ey
(B) Pusa Swarnim significant, because
(C) Pusa Shubhra (A) It helps to remove debris from
(D) Pusa Komal
the sewage.
39. Which of the following plant tissues (B) It reduces the BOD level of
cannot be used as explant in tissue
culture ? sewage.
A) Merist '
(A e (C) It helps in the production of
(B) Parenchyma
(C) Sclerenchyma biogas.
(D)  Collenchyma (D) It increases the organic content
40. The hybridisation between naturally 0 age.
incompatible plants like Potato and
Tomato can be achieved through
(A) Artificial pollination 43. Ruminant animals can digest cellulose
Ry fomane ‘hybrldlsatu:.m in their food, where as human beings
(C) Conventional breeding
(D) Mutation breeding are unable to do so. This is because
(A) Methanogens are present in
41. A chilly plant was severely infected '
with Chilly Mosaic Virus (CMV). human gut.
Identify the technique that helps to 4
raise virus free plants in the next (B) Cellulose is a complex sugar.
generation from the above virus
infected plant. (C) Cellulose reduces the bulk of
(A) Artificial hybridisation food.
(B) Meristem culture : ;
(C) Self pollination (D) Methanogens_ are absent in
(D) Hydroponics human gut.
Space For Rough Work
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44. i.ra&g_’dm &0.2.680°.3 oferTat 47. RNA m@gﬁeéﬂwg dsRNA ee0g)
RocIRemSNTY,, 869, SO0 IO/ NN T @0
roTOSA. (A) mRNA o 9,030
(A)  ©Redon’ = ST LR (B) gnegdeon0on dre3nmd RNA
(B) eaeeorvamgamdwdwa‘ o N
(C) Bm,WTeBT I T LR (C) mRNA o T35
(D) STEIT IR, 7 (D) eRee eFdesn
48. B3eE ORNYY, TIRTVTOYF 13,3200
45, woirae@xbu: NTOTR) neg, Tone Foor Xeeoss $ToRE I wrs
BoBeod IMerSent XegHons. WHBOT TG, TN,
(A) q,cam (B) m,6d Bezgne3 (A) memgwaa) DNA xeﬁc‘
(C) wedsood (D) X¥, Rednes C) a0 (D) .83 7 &
' 49, JPUHLMES WA ﬁraoé&ras:w =
46. T3 I TAQPATOT wndees Hef FINS ol mtaoirariw ﬁﬁdﬁ@ﬁ
ANITORTY, M B N oo BBCLBTNIYO, ?
FOTOSATOS LRrnv) TIIRA. (A) @ e oY TIWS
Wells g s B0LTPTOI ATE.
00,, SR (B)  &rish stnionn semr N
L BOVNAN, (C) ©03RF3 3,005, 1% AtoDs.
= (D)  2dny e o0, dpesBoesnd
N ST SE.
() M- 0. e 50. =omT - (:wr (Verhulst-Pearl) 3
i (¥
N e 2. oFs RO AAEOHEY, T
(B) M—@gdﬂ&.a&a‘.@. W, 0T, 303 % XU,
N - SS'BRERE 8.0 .. 1,06 A iN_er(K "N}
(C) M- eédm%c:acs 80T, WIR,00° dt K
N- eswﬂamd B.QF.. W, 0T () S &gfm'mass e
(D) M — 30800 8.5, 130,008 :g: 23:::5: :_”355 s
N - 383 8.05°.2. 13,00° ' 8
(D) waZoaw, TOT,3.
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44. From the given combinations of steps
in PCR, identify the enzyme dependent
step/s.

(A) Annealing and extension
(B) Annealing and denaturation
(C) Denaturation and extension
(D) Extension only

45. Biolistics method is suitable for gene
transfer into :

(A) Viruses

(B) Animal cells
- (C) Bacteria .

(D) Plant cells

46. Identify the labels M and N in the
following Agarose gel electrophoresis
representation.

Wellszéﬂ
ey / ;7 7
942/ ,; / /

L.._ !

i N
(A) M - Digested DNA bands :
N - Undigested DNA bands
(B) M - Hybridised DNA bands
N — Unhybridised DNA bands
(C) M - Largest DNA bands
N — Smallest DNA bands
(D) M — Smallest DNA bands
N — Largest DNA bands

47.

49.

_In RNA interface, the dsSRNA molecule

prevents .

(A) transcription of mRNA.

(B) transport of RNA from nucleus
to cytoplasm

(C) translation of mMRNA
(D) aminoacylation

Now-a-days, the early diagnosis of
bacterial or viral infection in humans is
possible using

(A) Serum analyser

(B) DNA sequencer

(C) PCR

(D) CT Scan

Which of the following features of

plants is not helpful in adapting to

desert life ?

(A) Presence of thick cuticle on the
leaf surface

(B) Leaves modified into spines

(C) Presence of sunken stomata

(D) Absence of trichomes on leaf
surface

In the following equation of Verhulst -
Pearl logistic growth, the letter ‘r’
denotes =
dN [K - N)

dt K
(A) Extrinsic rate of natural increase
(B) Intrinsic rate of natural increase
(C) Carrying capacity
(D) Population density

Space For Rough Work
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51 200y LEosy sakiosd ob eivSedroD 54. B FNSYIVE cIRP w¥ - Y
A3 - LR TIpOEl. o i BTB I QEORNYE BeTr RO, ?
FERQUDT NS mERosd Bowoors (A) ooy gcb o
SOIRERT QDB DL 7O .

I___l (B) eyicdnoes,
[ J (C) k‘k}mkgeo:b Sk
| | (D) 2eSrrey QoeILd T8
| | ] |
[ [ 55. & SUNS[NVY, PR 3T
(A) wdeemn  (B) axom i o
©) 2z D) e (A) wogEoDT wao3es Seioky
” BTN,
(B) machadd Tomosday  womd
52. @ WA umc FOTOODY, SANFE S TRRTING.
TG, TR IETT #2008 ‘M’ &) b
(C) onedn, e 8e3n® 0L AREDT
X%, - des > M| > T - =3, ROREEONVY,  womd  FANES
QT TRTTNGS.
(A) oo (B) Zney :
i (D) =3ITTY, SeeRna tedpest
C) @ RO Vel 19}

53. %000 wOR TTeIsR) ©8Ya0 TOAT 56.  ROT Tegoer v ), CAROONXS STIBTCE,
S TORIFODT, 3, TR BN GROT  ToFVI  DoBENTRY  oIn
LekRR AR, ' DRPOBR0T SVTRNERN - LT ?

(A) SR Iy (A) 1 Se 22,2020

(B) woowex Iy (B) 13 =3 2021

(C) mPecd Joler (C) 1 Fe 302021

(D) oTTIIFE Jylers (D) 10 Se a%owo* 2020
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51. The shape of the pyramids reflects the 54. Which one of the following is not
growth status of the population. included under in-situ conservation ?
Identify the type of age pyramid (A) National Park
represented  below for  human
population. (B) “Senctusry

: I__I (C) Botanical Garden
[ | (D) Biosphere Reserve
| | ]J 55. Which one of the following is a wrong
L [ statement ?
(A) Ascending (B) Expanding (A) Most of the forests have been
lost in tropical areas.
(C) Stable (D) Declining i
(B) Green house effect is a natural
 phenomenon.

52. Identify the possible link ‘M’ in the (C) Eutrophication is a natural
following food chain : phenomenon in fresh water lakes.
Plant — Insect — [M] — Snake —> Eagle (D) Ozone n upper part of the

atmosphere is  harmful to
(A) Rabbit (B) Wolf animals.
(C) Frog (D) Ichthyophis
- 56. According to Supreme Court of India,
) = ruling with respect to ‘Bharat Stage
35 The or'ga'n'lsms which %nvade a bfire WP il from Which date, these are
area to initiate an ecological succession : .
supposed to be implemented in the
are known as
country ?
(A) Key stone species (A) 1% April, 2020
(B) Climatic species (B) 1% June, 2021
(C) Endemic species (C) 1% January, 2021
(D) Pioneer species (D) 10™ December, 2020
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57. Tl OQWE 8OeoGNY SFTITR) Tl

58.

| BQDR sumeEsEndRodn Beodk.

Tes-1

(1) FEeRRB=  (p)
(2) SRRERALT (g
(3) Drecdefpunt (r) wwrte
(4) D ECRRALT (s) TFeacDd
ROOINT TROTEFFOITY ok TR :
(A) (1) 3 (p)a (2) 5 (S), (3) i (l'), (4) " (CI)
B) 1-@,2)-@E,G)-),# -

©€) (1)-(.2)-(p),(3)-(@,4)-(s)
D) M-®,2)-@).3)-(6),@)-@

 PUNS SNeFBOE XOV FPOHRY MDY

mi-ll
Jdooe*
e.-:eg_gﬁes‘bcm

T WY, Reachs  wgoRvsoar

59. 2 PHRICHY, ERUTOS BRIF rt T’
R, OO,

(A)
(B)
©)

(D)

ITT,% (Sepal)
YRV (Petal)
@agdad:f,dv (Tepal)
Y Tes (Perianth)

(Ser)
! 60. m‘aad Sedodg , W), DT, PFOID
ﬁ 3F FTocun, ooy, DY TV
(e -w- o) ' ‘:szsdﬂdagt REARZE. e:ssuodorwowos.
(i)
. FeB0 RO TN TR, DTN .
FEEROATLIE. ATITWTITOT T
N ¥ vy -
Rl " (A) BB odnd Soed SR Rosd,ob
(A) p-amE, q- MIIRERE, T Tog, NeTHTS.
— .‘ — :
t- B s - YRR (B) DOS oCnvQ I WAIGE
(B) p-mIRiazng, q- M3, Qe RO BTIB.
r- ngpea, s - %#
~ (C) QS rvd wOFRTS’
™ 2= -
(©) p-demTed q- I, dReBroTHes.
r - TRERTRFRG, s - M
(D) p-amE, q- MIRAIRY, o dirm;s o o
w D
i o %# st~ grtevslelanty)
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57‘

58.

Match the following classes of Fungi

(Column-I) with the examples
(Column-II).

Column-I Column-II
(1) Phycomycetes (p) Penicillium
(2) Ascomycetes (q) Alternaria
(3) Basidiomycetes (r) Albugo
(4) Deuteromycetes (s) Puccinia

Choose the correct option :

A) (M-@).@2)-06)0C3)-1,4@-@
(B) (1)-(9,2)-(),(3)-(s),(4)-(r)
©) (M-©2)-P),3)-(@),®-(s)
D) M-@,2)-@).B)-(),@D-(@

Observe the following simplified
scheme and choose the correct option
that matches with the letters given in

the boxes.
Vertebrata
(Division)

% 5 e «

(Lacks Jaw)

(Bcars Jaw)

Super[ Class

NS

(Bear fins) (Bear limbs)
(A) p- Agnatha, q - Gnathostomata,
- r - Pisces, s - Tetrapoda

(B) p - Gnathostomata, q - Agnatha,

r - Tetrapoda, s - Pisces
(C) p - Tetrapoda, q - Pisces,

r - Gnathostomata, s - Agnatha
(D) p - Agnatha, q - Gnathostomata,

r - Tetrapoda, s - Pisces

59.

60.

Identify the floral unit ‘I’ in the given

floral diagram.

(A) Sepal
(B) Petal
(C) Tepal
(D) Perianth

A student observes grass and Hibiscus
plants in his garden during noon. To
his surprise, only the leaves of grass
were found rolled inwards. The reason

could be ,

(A) presence of more number of
stomata on the grass leaves.

(B) undifferentiated mesophyll in

grass leaves.

(C) presence of Bulliform cells in the

grass leaves.

(D) due to higher rate of transpiration.
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